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Prove that G={-1,1,i,—i} is a group under multiplication.

First need to show that G is indeed closed under the operation *

we have 1x1=1 where 1€G

we have —1x—1=1 where 1€G

we have 1%x—1=-1 where —=1€G and —-1%x1=-1€G

we have 1xi=i and i*x1=i where i€EG

we have —1xi=—i and ix—1=—i where —i€G

let KEN then i2k=-1 where —1€G

Finally let kEN then we have i2k+1=—i where —i€G

So, all possible outcomes from every combination of multiplication between any elements
yields an element in G.
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8. Net 34

9. prove that- AX(BnC) = (AXB) n (AXC)
10. Prove that- An(BuC) = (AnB) u (AnC)
11. prove that - (AnB)X(CnD) = (AXC)n(BXD)
12. Show that- (PnQ)X(RnS) = (PXR)n(QXS)
13. Binary operations
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14. Algebraic structure

15. Show that (..., -4,-3,-2,-1,0, 1, 2, 3, 4,...} is group
16. Show that a*b=Db*a

17. if a*c = c*a and b*c = c*b, then (a*b)*c = c*(a*b)
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